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Name:

"R

Reg. No.:
BRCHRTR

Time: S0 Minutes
Calculators are NOT permitted.

Instructions:

1. DO NOT OPEN THIS QUESTION BOOKLET UNTIL YOU ARE
TOLD TO DO SO.

2. Write your name and registration number on the cover of this
question booklet.

3. If the information printed on your answer sheet is not correct, please
inform the invigilator immediately.

4. Please use a pencil and write your answers neatly ONLY on the
answer sheet provided. DO NOT write or draw in the circle next to
each answer box. No mark will be given if you failed to follow this
instruction.

5. Unless otherwise specified, all answers must be in exact value and in
its simplest form. Writing the units for the answers is NOT necessary.

6. Rough-work sheets provided will be collected at the end of the contest
but they will not be marked.

7. Diagrams in this question booklet are not necessarily drawn to scale.

PREF : 50 1iE

AAFHEAFTER.

ELEHAN :

1. REMEBE, N2BWELEES.

2 BENMEEHENEENEE LR E R ETRE.

3. BRHEEMA LN HMERETEFEN. MEME, BEF.
4

FASROARESEEN, DEMAREES. BOEENELES
“HMEE, FEREERERER.

5. BIEBEHARE, FASRURBSHSEM, BLENERBER
B FRER.

6. LB AEMBEE S RIE S FMERR, BERKEFESNETY
e P ]

7. M FIEE R M B AR —E KL BIAERK -
© 2022 MathConcept Education

fn Question Booklet

—m
Jdm



y)
2)
3)
4)
5)
6)
7)
8)
9)
10)
11)
12)
13)
14)

15)

5X9=79

6 X4="7

48 - 6="7

27 +9=7

813 +93 =7

65-39=7

249 + 457 =7

525+ 128 =7

365 -28 =7

330-114=7

116 + 46 + 726 =?

388 +430 - 509 = ?

700 - 249 - 77 =7

2XS5XT=7

TX4+2=7
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16) What 3D shape can be formed by the figures below? [2%]

T 75 B[ 2 = 4 i B — {RI SL RS ?

| !
| |
| |
| |
| |
| |
'\\ /.
17) 7 metres and 23 centimetres = ? centimetres [2.1%]
7THK23EXK = ? JE K

18) If a quiz starts from half past nine in the morning to ten  [2.2%)]
twenty-five in the morning, it takes ? minutes.

AERARERLELFARFEEBELF BT
hy, mifllgk ? oiE.




MathConceptition 2022

19)  There were 324 pieces of cake in a shop originally. 190
pieces were sold in the morning and 59 pieces were sold
in the afternoon. How many pieces of cake were left?

JEMNIRA 324 &%, EFEH 1904, THEH
50, EREHESDH?

[2.3%]

20) There are 38 students in a class. If they are divided in
groups of 4, how many students are left?

IERIMNELE. EFGIANEBETH—H, EFT
= e 2% v

[2.4%]
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21) What 1s the difference between the largest 3-digit even [2.5%]
number and the smallest 3-digit odd number?

BAN=MEHRAFIN=MEHZERZD?

22) How many prisms are there in the figure below? [2.6%]

TEXEZMERE?
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23) The price of a cup of ice cream is 12 dollars and 40 cents. [2.7%]
Each additional topping costs 2 dollars and 80 cents. If
Sally buys a cup of ice cream with 2 additional toppings,
how much does she pay?

—FERMEEE 2T 45 SN—KENS
2ﬁ8ﬁ %QEET—%gﬁM2ﬁmﬂ,mg
REDS

24)  Ared ribbon is 4 m 15 cm long. It is 160 cm shorter than [2.8%]
a yellow ribbon. If they are glued together and the length
of the glued ribbon is 833 cm, how long is the overlapping
part in cm?

AEMmERA4KISIEX. CIEEALEE 160 EX.
HIOMIR#4ERAE—R , BhEZ4ER 833 [EX,
MEBEEESHTRZDENK?
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25) Form 4-digit numbers by using the digits below. The [2.9%]
digits in each formed number must be different. How

many even numbers can be formed which are smaller than
25007

FRATE AR M E, maEmALENAIE
FATEE, AR ZMELE 2500 NEIEE 2

9,0,2,7,5,4

26) A banana is on the right of a monkey. If the back of the [3.0%]
monkey is pointing towards the west, the monkey is to the
? of the banana.

—ERTHEFE—ETE. ERTFHREE2AES
BFEEEH 2

A. east B. south C. west D. north
RA 2] [iilys) A
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27)  In the figure below, if the pencil is 14 cm long, how long [3.1%]
is the shell in centimetres?

TEF, MRAER 14EXK, BEERRSDEK?

— . eme— o mme—  Eme—  mm—  E—— m— =
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28) How many acute angles are there in the figure below? [3.2%]
TEXAEZIMERA?
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29) Aradio station broadcasts 8 programmes every hour. [3.3%]

How many programmes does it broadcast from 8 : 00 p.m.
to 3:00 a.m.?

—EEEE/NFEENSEHE. B TF8:00EL
F3:00%EELEMENE Z/ME?
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Given that 31* January is Friday in 2020. Which day of the
week is 7" March in that year?

E417E2020F, 1 A3 H=RE#RE. MzZERN3IATH
=EHR%?

13.4%)]

31)

Last year, Martin was 16 years old. He is 2 years younger
than Nick. What is their total age now?

MNEEF 16 3R MLEXA/N 2 5. HABREAGHRS

hE?

[4.0%]
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32) Find the missing number in the pattern. [4.1%]

RIFARE, IRHBR EREF.

100,96 ,91, ? ,78,70, ..

_* >

33) Find the value of 686 + 151 +42 -85 +49 — 115 - 62. [4.2%]

K 686+ 151 +42 -85 +49 — 115 - 62 BY1&.

P10
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34) Peter has 3 five-dollar coins, 2 two-dollar coins and 5 [4.3%]
one-dollar coins. Paul has 3 five-dollar coins and 6 fifty-cent
coins. How much should Peter give to Paul such that both
of them have the same amount of money?

INEB3ERTEE. 2EA=-TEE K S5 @—TE
e, NEE 3 ELRTEER 6 ARAEE. ME
B NEZ DT, MAZEHEEEFE?

35) Each letter represents a 1-digit number. Find the value [4.4%]
of 4.

MR EEXFBRTR—E—HLIE, K A4 HEUE.

B B C

P11
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36) Andy and Benny are in the same queue. Andy is in the [4.5%]
7t place counting from the front. There are 20 people
standing behind Benny. If there are 11 people standing
between them, how many people are there in the queue?

M NEER—FKEP. EBRIERNREEE MR
HEt, MMNEERESR 20 AHEBR. BB 11 AHEMf
fzE, BRA+FEZ DA

37) Find the value of 999 — 998 + 997 — 996 +...+ 951 — 950. [4.6%]

K 999 — 998 + 997 — 996 +...+ 951 — 950 BY{H..

P12
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38) XYZ is a 3-digit number, where X, Y and Z are different

numbers. Given that the sum of X, Y and Zis 10 and
X —Y="7. What is the number XYZ?

XYZE—E=46igy, MX. YR ZEARAREFE. NE
X. Y. ZZFME 10, MX-Y=7, XYZEEEFE
HRE?

[4.7%]

39) How many rectangles are there in the figure below?

P13

TEXFEZMEARAR?

SN e e - —— s —— s — .

[4.8%]
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40) Find the number of dots in the 8" figure below. [4.9%)]

KTESE S AHBEREZREE .
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End of paper
£E5T
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